

							_	
HIGH EXPECTATIONS/CARING RELATIONSHIPS	Ν	Strongly Agree	Agree	Neutral	Disagree	Strongly Disagree	Pct Strongly Agree/Agre	Mean
Overall rating of all questions in this section	8	12.5% 1	25.0% 2	25.0% 2	37.5% 3	0.0% 0	37.5%	3.1
My student makes an effort to keep learning when it is difficult.	8	25.0% 2	25.0% 2	25.0% 2	25.0% 2	0.0% 0	50.0%	3.5
My school has a climate that is positive, nuturing and caring.	8	12.5% 1	12.5% 1	25.0% 2	37.5% 3	12.5% 1	25.0%	2.8
The staff at my school promote academic success for all students.	8	12.5% 1	12.5% 1	37.5% 3	37.5% 3	0.0% 0	25.0%	3.0
My school has adults who really care about students.	8	12.5% 1	37.5% 3	25.0% 2	12.5% 1	12.5% 1	50.0%	3.3
The school has adults who go out of their way to help students.	8	12.5% 1	12.5% 1	37.5% 3	37.5% 3	0.0% 0	25.0%	3.0
School takes student concerns seriously.	8	12.5% 1	12.5% 1	37.5% 3	0.0% 0	37.5% 3	25.0%	2.6
PARTICIPATION/ENGAGEMENT/MOTIVATION	N	Strongly Agree	Agree	Neutral	Disagree	Strongly Disagree	Pct Strongly Agree/Agre	Mear
Overall rating of all questions in this section	8	12.5% 1	25.0% 2	25.0% 2	37.5% 3	0.0% 0	37.5%	3.1
My student is excited by what they are learning.	8	12.5% 1	12.5% 1	25.0% 2	50.0% 4	0.0% 0	25.0%	2.9
My student is prepared for the next step of their educational experience.	8	25.0% 2	37.5% 3	12.5% 1	12.5% 1	12.5% 1	62.5%	3.5
My school provides quality classes/activities that meet my student's interests and talents.	8	12.5% 1	25.0% 2	12.5% 1	37.5% 3	12.5% 1	37.5%	2.9

SAFETY	N	Strongly Agree	Agree	Neutral	Disagree	Strongly Disagree	Pct Strongly Agree/Agre	Mean
Overall rating of all questions in this section	8	25.0%	25.0% 2	25.0% 2	0.0%	25.0% 2	50.0%	3.3
Concerns about my student's safety are addressed in an appropriate and timely manner.	8	12.5% 1	- 37.5% 3	25.0% 2	0.0% 0	25.0% 2	50.0%	3.1
The staff at my school is a safe place for my student.	8	12.5% 1	25.0% 2	25.0% 2	12.5% 1	25.0% 2	37.5%	2.9
SCHOOL CULTURE/SENSE OF BELONGING	Ν	Strongly Agree	Agree	Neutral	Disagree	Strongly Disagree	Pct Strongly Agree/Agre	Mean
Overall rating of all questions in this section	8	12.5% 1	0.0% 0	62.5% 5	25.0% 2	0.0% 0	12.5%	3.0
My student is treated fairly at my school.	8	12.5% 1	62.5% 5	0.0% 0	25.0% 2	0.0% 0	75.0%	3.6
The staff at my school respects cultural, ethnic and gender differences.	8	12.5% 1	25.0% 2	50.0% 4	12.5% 1	0.0% 0	37.5%	3.4
My student feels like they are a part of the school community.	8	12.5% 1	0.0% 0	25.0% 2	62.5% 5	0.0% 0	12.5%	2.6
The staff at my school listen to my concerns about issues.	8	0.0% 0	37.5% 3	50.0% 4	0.0% 0	12.5% 1	37.5%	3.1
People are respectful to others at my student's school.	8	0.0% 0	25.0% 2	37.5% 3	12.5% 1	25.0% 2	25.0%	2.6
My student is happy to be at school.	8	0.0% 0	25.0% 2	37.5% 3	25.0% 2	12.5% 1	25.0%	2.8

ACADEMIC PROGRESS	Ν	Strongly Agree	Agree	Neutral	Disagree	Strongly Disagree	Pct Strongly Agree/Agre	Mean
Overall rating of all questions in this section	8	12.5% 1	25.0% 2	37.5% 3	25.0% 2	0.0% 0	37.5%	3.3
I am well-informed about my student's progress in school.	8	12.5% 1	50.0% 4	25.0% 2	0.0% 0	12.5% 1	62.5%	3.5
Staff at my school provide resources or ideas that help me support my student at home.	8	12.5% 1	0.0% 0	50.0% 4	37.5% 3	0.0% 0	12.5%	2.9
Concerns about my student's progress are communicated promptly to me.	8	12.5% 1	25.0% 2	12.5% 1	37.5% 3	12.5% 1	37.5%	2.9
I understand how tests and assignments are graded.	8	12.5% 1	37.5% 3	12.5% 1	25.0% 2	12.5% 1	50.0%	3.1
Teachers grade fairly.	8	0.0% 0	37.5% 3	37.5% 3	25.0% 2	0.0% 0	37.5%	3.1
My school provides opportunities for additional academic support when my student is struggling.	8	12.5% 1	25.0% 2	50.0% 4	12.5% 1	0.0% 0	37.5%	3.4
COLLEGE AND CAREER - Yes or No	Ν	Strongly Agree	Agree	Neutral	Disagree	Strongly Disagree	Pct Strongly Agree/Agre	Mean
I know the courses that my student needs to pass to be prepared for and admitted to college.	8	87.5% 7				12.5% 1	87.5%	4.5
I know what classes my student will have to take and pass to graduate high school.	8	75.0% 6				25.0% 2	75.0%	4.0

PARENT INVOLVEMENT	Ν	Strongly Agree	Agree	Neutral	Disagree	Strongly Disagree	Pct Strongly Agree/Agre	Mean
Overall rating of all questions in this section	8	12.5% 1	12.5% 1	75.0% 6	0.0% 0	0.0% 0	25.0%	3.4
The staff offers parents opportunities to be involved in school and classroom activities.	8	12.5% 1	12.5% 1	0.0% 0	62.5% 5	12.5% 1	25.0%	2.5
My school has clearly outlined the parent, student, and school responsibilities in educating my student.	8	12.5% 1	37.5% 3	12.5% 1	25.0% 2	12.5% 1	50.0%	3.1
M school keeps me well-informed about school activities.	8	12.5% 1	62.5% 5	0.0% 0	0.0% 0	25.0% 2	75.0%	3.4
My school and I are partners in promoting positive behavior for my student.	8	12.5% 1	0.0% 0	62.5% 5	25.0% 2	0.0% 0	12.5%	3.0
Staff at my school promply respond to my phone calls, messages, or emails.	8	25.0% 2	25.0% 2	37.5% 3	12.5% 1	0.0% 0	50.0%	3.6
The staff is helpful and welcoming when I come to school or call.	8	37.5% 3	12.5% 1	50.0% 4	0.0% 0	0.0% 0	50.0%	3.9
SCHOOL DECISION MAKING	N	Strongly Agree	Agree	Neutral	Disagree	Strongly Disagree	Pct Strongly Agree/Agre	Mean
Overall rating of all questions in this section	8	12.5% 1	25.0% 2	25.0% 2	37.5% 3	0.0% 0	37.5%	3.1
My school offers opportunites to be on committees, PTA, school site council. ELAC, PTO, etc.	8	12.5% 1	37.5% 3	25.0% 2	25.0% 2	0.0% 0	50.0%	3.4
I am invited to meetings where discussions and decisions occur about school progress, programs and funding.	8	12.5% 1	25.0% 2	37.5% 3	25.0% 2	0.0% 0	37.5%	3.3
My school actively seeks the input of parents before making important decisions.	8	0.0% 0	25.0% 2	37.5% 3	12.5% 1	25.0% 2	25.0%	2.6
My school listens to parental input on important decisions.	8	0.0% 0	25.0% 2	37.5% 3	12.5% 1	25.0% 2	25.0%	2.6
TRANSLATION	Ν	Strongly Agree	Agree	Neutral	Disagree	Strongly Disagree	Pct Strongly Agree/Agre	Mean
I receive general information from my student's school in my language.	8	100.0% 8				0.0% 0	100.0%	5.0